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Spelling Quiz for Category: office
Order all the letters and fill in the blank with the corrected word. 

pigeon-holes1)

sle lilecaro

cartridge2)

rchcauot

inkstand3)

oeiter ltn

bundle (of papers)4)

eg leolaj

secretary5)

saertlce aria

pen, feather6)

lamapl u

grinder7)

iturartrdoa

paper files8)

euda paellarsgpe

paperwork9)

aeleopp

computer10)

copalmutaa dor

seal11)

elsell o

calculator12)

lacolracluad a

to copy13)

arcopi

pen, feather14)

llma pua

calculator15)

l accorlaulada

to mail16)

echa rrlo raceo



Name:_______________________________________________ Date:______________

Copyright © 2025 - 123TeachMe.com ac884 2

(continued) Spelling Quiz for Category: office
Order all the letters and fill in the blank with the corrected word. 

to string (beads), to file (papers)17)

nartresa

mailbox18)

ubznó

pens19)

spo arollices

building20)

ifiie dleco

elevator21)

eaorlevd

supervisor22)

sprrouevis

chair23)

l lasila

fax machine24)

á ui nafxmqdea

calendar25)

calnroedai

note26)

no alat

paper27)

llpep ae

assitant28)

istsnatee

ring binder29)

ivdcharaor

office center30)

erodd es ctaocneph

ink31)

itatal n

stool32)

ecleñ osa



Name:_______________________________________________ Date:______________

Copyright © 2025 - 123TeachMe.com ac884 3

Answer Key for Worksheet ac884

Spelling Quiz starting on page 1
1 = el casillero , 2 = cartucho , 3 = el tintero , 4 = el legajo , 5 = la secretaria  , 6 = la pluma , 7 = trituradora , 8 = el
guardapapeles , 9 = papeleo , 10 = la computadora , 11 = el sello , 12 = la calculadora , 13 = copiar , 14 = la pluma , 15 = la
calculadora , 16 = echar al correo , 17 = ensartar , 18 = buzón , 19 = los lapiceros , 20 = el edificio , 21 = elevador , 22 =
supervisor , 23 = la silla , 24 = máquina de fax , 25 = calendario , 26 = la nota , 27 = el papel , 28 = asistente , 29 =
archivador , 30 = centro de despacho , 31 = la tinta , 32 = el escaño


